Posts of JAILOR (Men) and JAILOR (Special Prison for Women) in Prisons
& Correctional Services Department included in the Tamil Nadu Jail Service.
Paper — 11

Part-A (English Eligibility-Cum-Scoring Test)

Questions : 1-100 Total Marks : 150

1.  Who was the President of United States of America from the year 1861

to 18657
(A) Franklin (B) John F. Kennedy
(CWAbraham Lincoln (D) George Bush

(E) Answer not known

2. Nelson Mandela was able to set Rev. Mohidim. His role model at
healdtown matriculation school

Choose the right pair of incidents that serued for the purpose

(1) Rev. Mohidim was influenced by the self correcting habits of the
principal Arthur Wellington

(11) Rev. Mohidim was staunch to exhibit his behaviour never inferior to
the principal Wellington

(i11) Rev. Mohidim did not allow the inconvenience of the principal in the
effective discharge of his duties in diligence

(iv) Mandela was able to increase and associate with Rev. Mohidim as
he was entrusted some responsibilities of the school

(A) (@ and (11) (B) (11) and (iv)
(CM (11) and (111) (D) (1) and (1v)

(E) Answer not known
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To which political party did Nelson Mandela belong?

(A) The Southern National Congress
(B)\Ahe African National Congress
(C) The Indian National Congress
(D) The American National Congress
(E) Answer not known

Assertion : “Rani of Jhansi” was regarded as “Jesebel of India... The
young Rani whose head rested the blood of the stain”

Reason : She was harbouring feelings of resentment against the
British for Annexation of Jhansi.

(A) [A] true [R] false

(B) [A] false [R] true

(C) [A] and [R] true but [R] is not correct explanation to [A]
(DMA] and [R] true and [R] aptly rationalized [A]

(E) Answer not known

Who is the master of the following statement?

“You are just your intelligence”

(A) Rani Lakshmi Bai
(B) Nehru
(C)\/Kalpana Chawla
(D) Gandhiji

(E) Answer not known

What was Helen Keller's Fathers name?

(A) David H. Keller (B) James H. Keller
(€N Arthur H. Keller (D) Christopher H. Keller

(E) Answer not known



10.

Who was “Nethaji’'s” Guru?

(AW Benm1 Madhav Das (B) Kamala Das
(C) Mahatma Gandhi (D) Jawaharlal Nehru
(E) Answer not known

Who proclaimed provisional Government of free India in the town hall of
Singapore?

(A)/Subhas Chandra Bose (B) Mahatma Gandhi

(C) Rash Behari Bose (D) Sardar Vallabai Patel

(E) Answer not known

How many letters are there in Nehru’s collection of letters ‘Glimpses of
World History’?

(A) 95 (B)’(QG
(C) 204 (D) 100

(E) Answer not known

How did Gandhi play role in World War I?
(A) He led massive Satyagraha Compaigns

(B) He went to Jail in protest against the war
(C) He kept himself out of public life
(D)!Ale recruited Indians for the British Army

(E) Answer not known
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11.

12.

The woods are lovely, dark and deep,

But I have promises to keep

And miles to go before I sleep

And miles to go before I sleep

Identify the figure of speech employed in the given stanza
(A) Personification (B) Simile

(C) Metaphor ( epetition

(E) Answer not known

We were taken from the ore-bed and the mine,

We were melted in the furnace and the pit

We were cast and wrought and hammered to design,
We were cut and filed and tooled and gauged to fit.
Mention the rhyming words employed in the above lines
(A) mine-fit; design-pit

(BY mine-design; pit-fit

(C) fit-design; mine-pit

(D) pit-pit; fit-fit

(E) Answer not known



13.

14.

15.

River, river, little river!

Bright you sparkle on your way;

O’er the yellow pebbles dancing,

Through the flowers and foliage glancing,
Like a child at play.

Mention the rhyme scheme employed in the above lines

(A)/abccb

(B) abbeb
(C) aabbec
(D) abcbec

(E) Answer not known

Remember everyone here is important

When you're forgotten it makes you feel sad
Know that you matter and you make a difference
Let no one shame you or make you feel bad
What is the rhyme scheme of this Stanza?

(A) abed
(B\2bcb
(C) aabe
(D) abce

(E) Answer not known

“Laghts flicker on and off”

The figure of speech used in the above lines Js

(A) Simile (B¥Onomatopoeia
(C) Repetition (D) Hyperbole

(K) Answer not known
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16.

17.

18.

19.

And new, if you will set us to our task we will serve you four and twenty
hours a day.

Figure out the poetic device used in the given lines.
(A) Simile (By{ersonification
(C) Metaphor (D) Repetition

(E) Answer not known

“She’s a Lioness : don’t mess with her”

Identify the figure of speech.

(A)/Metaphor (B) Repetition
(C) Simile (D) Alliteration
(E) Answer not known

Fill in the blanks with Right Plural form

He ate three of Bread.
(A) Loaf

(B) Set

(C) Pair

(D)/foaves

(E) Answer not known

Trees old, and young, sprouting a shady born
Pick out the alliterated words

(A) Trees —  0Old
(B) Old —  Young
(C)y 0Old —  Boon
(D)‘/Sprouting —  Shady

(E) Answer not known



20.

21.

22.

Pick out the words in alliteration in the below line —

“A symbol of power and strength”

(A)
(B)
(C

(D)
(E)

A, and

Symbol, power
Symbol, strength
Power, strength

Answer not known

And miles to go before I sleep

And miles to go before [ sleep

These lines are written by

(A)
(B)
(C

(D)
(E)

John Keats

William Blake
obert Frost

Henry Van Dyke

Answer not known

“I was angry with my friend :

I told my wrath, my wrath did end”

These lines are taken from the poem

(A)

Special Hero

(B) Courage
(C)V" A Poison tree
(D) A Tragic story

(E)

Answer not known
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23.

24.

25.

“Having a friend is like planting a flower

H

Show love and kindness it one day will bloom’
These lines are taken from the poem

(A) Courage

(B)Aessons in life

(C) A tragic story

(D) No men are foreign

(E) Answer not known

And the finest of conventions ever held beneath the Sun

Are the little family gatherings when the busy day is done

Find the poem from which these lines are taken

(A)\/The stick-together families
(B) The comet

(C) The River

(D) The Spider and the fly

(E) Answer not known

“Every soul that touches yours-

Be 1t the slightest contact-

Get there from some good;

Some little grace, one kindly thought”
Name the poet who wrote these poetic lines.

(A)'/George Eliot (B) Robert Frost
(C) John Masefield (D) David Bates
(E) Answer not known
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26.

27.

Because, for all our power and weight and size,

We are nothing more than children of your brain!

These lines are taken from the poem

(A)/The secret of the Machines
(B) Life

(C) No Men are Foreign

(D) The Ant and the Cricket

(E) Answer not known

Match the following poem with their lines :

(a) by starvation and famine 1. No men are foreign
made bold

(b) love her, respect her, 2. The House on ELM street
keep her

(¢) beneath all uniforms, 3. The Ant and the cricket

a single body breathes

(d) each day the house just 4. T am Every Women
begins to fade

@ (® @ (@
A 3, 4 2

BVS 4 1

(C) 3 1 2
(DN 4 1 2
(E) Answer not known

o I N S I
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28.

29,

30.

31.

Courage is more than a daring deed :
It’s the breath of life and a strong man’s creed

These lines are taken from the poem

(A) Your space (B) Sea forever
(C)\/ﬁourage (D) Lessons in life
(E) Answer not known

“Come Hither, Hither, Pretty Fly, with the pearl and silver wing”

These words are spoken by

(A) The Ant (B) The Cricket
(C)\Ahe Spider (D) The Honey Bee
(E) Answer not known

In, “My Raminiscence”

The topmost room of the house was in a tower.
(A)\/Round (B) Square
(C) Rectangular (D) Pyramid

(E) Answer not known

It sat alone.

What happened there is still today unknown
What does ‘it’ refer to?

(A) Moon (B) Street
(C) Tree (D)V{ouse

(E) Answer not known
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32.

33.

34.

35.

Their hands are ours, and in their lines we read

A labour not different from our own.

Who does ‘their’ refer to?

(A) Indians ( oreigners

(C) Poets (D) Strangers
(E) Answer not known

And it grew both day and night till it bore an apple bright
What grew both day and night?

(A) Apple (B) Joy

(Cxn"Anger (D) Poison

(E) Answer not known

In poetry, a sonnet has

(A) 8 lines BV lines
(C) 12 lines (D) 10 lines

(E) Answer not known

“Because, for all our power and weight and size
We are nothing more than children of your Brain”
What does the word “we” refer to?

(A) Birds (B) Agimals
(C) Trees (D achines
(E) Answer not known
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36.

37.

38.

Fill in the blanks :

The Ant and the Cricket 1s kind of poem.
(A) Lyrics (B) Sonnet
(C)VTA fable (D) Acroestic poems

(E) Answer not known

“Having a friend is like planting a flower” planting a flower is compared
to

(A) having a foe

(BnoRaving a friend

(C) the smallest of gifts

(D) the tiniest creature in a room

(E) Answer not known

Complete the following poetic line by choosing the correct option given
below :

“We can see and hear and count and

(A) fly and dive (8 read and write
(C) weight and size (D) heat and light

(E) Answer not known
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39.

40.

41.

42.

“The woods are lovely dark and deep
But I have promises to keep
And miles to go before I sleep

And miles to go before I sleep”

Our former Prime Minister was so much impressed by the above lines

what was he?

(A) Lal Bahadur Shastri (B) Indira Gandhi
(C)/jawaharlal Nehru (D) Rajiv Gandhi
(E) Answer not known

In the poem ‘Courage’, is not something can be called

(A)A brilliant dash (B) Honest fall
(C) Silent emotion (D) Beautiful expression
(E) Answer not known

Choose the correct one :

The diamond was lying on the

(A) ground (B) home
(C)/ﬁoor (D) room
(E) Answer not known

Ruskin Bond was waiting for the northern bound train at
station.

(A) Amber (B) Angola
(C) Amba (DMAmbala

(E) Answer not known
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43.

44.

45.

46.

Choose the correct answer :

The villa where Tagore’s family living in was known as

(A)
©
(E)

Maran’s Garden (B)ﬁoran’s Garden
Anandha’s Garden (D) Meran’s Garden
Answer not known

The word ‘Apprentice’ means

(A) Getting Knowledge or skill
(B)M A person who works for someone to learn skill
(C) Propagation of knowledge
(D) Learner
(E) Answer not known
1s the name earned by the grizzly cub from Alaska.
(A) Fluffy (B) Hairy
(C)\/ﬁttle Cyclone (D) Pudgy

(E)

Sir C.V. Raman Emphazied the concept of

Answer not known

Fill up the blank with suitable answer.

(A)

The 1mportance of electricity

(B)\/fhe 1mportance of water

(&)

The importance of food

(D) The importance of shelter

(E)

Answer not known
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47. The river which made Egypt as fertile was

(A) The Yellow River (B) The Brahmaputra
(CW”The Nile River (D) The Amazon River
(E) Answer not known

48. Identify the speaker :
‘That 1s, ‘I believe they do’.

“... he rose on his hind feet and danced around in a frenzy of enjoyment...
Then he went tearing around the house again spreading chaos and
destruction”

Whose action is described in these lines?
(AnvPeter (B) Polly
(C) Thatcher (D) Tom
(E) Answer not known

49. The cricket coach of Sachin Tendulkar was

(A) Sanjay Manchrekar
(B)V Ramakant Achrekar
(C) Sunil Kavaskar

(D) Kapil Dev

(E) Answer not known

50. What pieces of the set were vital to the plot development of the play?

(Amle box, the lamp, the bed

(B) The curtains, the box, the closet
(C) The box, the lamp, the curtains
(D) Holme’s pipe, the box, the tea set
(E) Answer not known
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b1.

52.

53,

54.

Who 1s the Hero of Hollanel?

(A) dJohn (B) Peter
(C) Mark Twain (D) Jonathan
(E) Answer not known

The ‘Last Lesson’ is set in the days of

(A) First World War

(B) Indo-Pakistan War
(C)\/ﬁranco-Prussian War

(D) American War of Independence

(E) Answer not known

Who is the author of the lesson “TEMPEST”?

(A) Charles Lamb (B) Browning
(C)\/ghakespeare (D) Wordsworth

(E) Answer not known

The young seagull was tired and exhausted

(A) Due to running fast
(B)/Due to strange exercise
(C) Due to crying

(D) None of the above

(E) Answer not known
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55.

56.

57.

The young seagull had been Afraid to

(A) run
(B) swim
(C)Vtly

(D) none of the above
(E) Answer not known

Read the given passage carefully and answer the questions given below
(56-60) :

Glenn Gould is widely regarded as Canada’s most famous and eccentric
pianist. He is renowned for his recordings of the music of Johann
Sebastian Bach. Gould is also famous for his unusual behaviour. He
would only play concerts while sitting on an old chair of his father had
made, and he usually hummed while he played.

Which of the following gives the meaning of the word ‘famous’?

(A) eccentric (B) unpopular
(CW renowned (D) regards

(E) Answer not known

What is unusual about Glenn Gould?
(A) playing with father

(B) he plays all alone

(C) sitting on the lap of his father
(D)\/n(.Jt standing while playing

(E) Answer not known
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58.

59.

60.

61.

62.

Find out the word that mention the sound of a bird in this passage

(A) Chirping (B Humming
(C) Baching (D) Buzzing
(E) Answer not known

Glenn Gould 1s an unconventional

(A) Magician (B}‘ﬁusician
(C) Physician (D) Canadian
(E) Answer not known

Choose a suitable title of the passage

(A)Aopular planist

(B) Conventional pianist
(C) Sentimental poet

(D) Canadian poet

(E) Answer not known

Find out the odd one out

(A) Smirk (B) Laugh
(C) Snicker (DMWhimper
(E) Answer not known

Find the odd one out of which is not an adjective

(A) Many (B) Wonderful
(Cn/Present (D) Cultural
(E) Answer not known
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63.

64.

65.

66.

Plural form of “Syllabus”

(A) Syllabuses (B) Syllabus
(C)/Syllabi (D) Syllabusses
(E) Answer not known

Choose the correct plural form of “Knife”
(A) Knifes (B)Y Knives
(C) Knifs (D) Knivese

(E) Answer not known

Select the compound sentence from the following sentence

(A) As it started raining suddenly and people ran for shelter
(B) Because it started raining suddenly people ran for shelter
(C)\/It started raining suddenly and people ran for shelter

(D) Raining suddenly so people ran for shelter

(E) Answer not known

Identify the correct degree :

(1) Tsunami is more destructive than cyclone
(2) Prabhu is the youngest of all

(A) (1) Positive (2) Superlative

(B)%) Comparative (2) Superlative

(C) (1) Superlative (2) Comparative

(D) (1) Comparative (2) Positive

(E) Answer not known
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67.

68.

69.

70.

71.

Decrees of comparison :

Write the comparative degree of strong

(A)
(C)
(E)

Choose the correct blended word

(A)
(©)
(E)

Choose the suitable option to pair it with the work ‘knife’ to form a

Strongest
Strong

Answer not known

Photo
Cafe

Answer not known

compound word :

(A)
(C)
(E)

The British English word ‘Petrol’ in American English is called

Choose the correct American English word for The British English word

Sharp
Corner

Answer not known

(A) Gas

(C) Gasoil

(E) Answer not known
“FLAT”

(A) Enclave

(C) Villas

(E) Answer not known

22

(B)"Stronger
(D) Strongs

(B) Aren’t
(Mrunch

(B)YEdge
(D) Axe

(B¥ Gasoline
(D) Castrol

(B) House

(D)ﬁpartment




72.

73.

74.

75.

Choose the correct synonyms for the underlined word ‘Swoop’ from the
options given

(A) to eat something

(B) to bite

© long silver fish

(DM to move very quickly

(E) Answer not known

Choose the correct synonym of

‘To travel all the way around something, especially the Earth’.
(A) Indigenous

(B) Exploration

(C) Navigation

(D)A}ircumnavigation

(E) Answer not known

Choose the correct Antonym for the underlined word from the options
given :

Seventeen oranges were hidden in the narrator’s pockets.

(AW exposed (B) masked

(C) concealed (D) buried

(E) Answer not known

Choose the correct ‘Antonym’ for the underlined word from the options
given :

The lamp was dim, so the way wasn'’t clear.

(A) horrified (B) darkness
(C)v*bright (D) dull

(E) Answer not known
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76. Select the correct suffix word for ‘patriot’ from the options given

(4) ity
(B 1sm
(C) al
(D) ness

(E) Answer not known

77. Pick a smitable Prefix for the given word from the given options

Call
(A) non

(BMVe
(C) un
(D) sub

(E) Answer not known

78. Choose the correct suffix for the underlined word from the options given.

The production graph 1s going down.

AV Ward
(B) Less
(C) Tull
D) Ish

(E) Answer not known
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79. Match the following words and phrases given in column A with their
meaning in column B:

Column A Column B
(a) go along 1
(b) keep away 2.  to begin
(¢) kick off 3. to continue
(d) look after 4

@ Gy @© @@
a1 2 3 4
BWS 4 2 1
©4 1 3 2
(D) 2 3 1 4

(E) Answer not known

take care of

not to go near

80. Match the following words and phrases given in column A with their
meaning in column B:

Column A Column B
(a) Gaunt 1. Disagreement
(b) Gaze 2 Confirmed
(c) Ascertained 3. Lean
(d) Contention 4. Stare

@ ® © (@
(A) 1 3 4
(BY'3 4 2 1
(C) 4 2 3 1
D) 1 4 3 2
(E) Answer not known
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81.

82.

83.

The cricket bat was hidden

(A) between
(B) nextto
(Q)’ among

(D) by the side

(E) Answer not known

Choose the correct Articles :

Water is elixer of life.
(A) a

(B) an

Gy the

(D) some

(E) Answer not known

Choose the sentence which has no error

(A) I found an one rupee coin
(B) I found the one rupee coin
( I found a one rupee coin
(D) 1found one rupee coin

(E) Answer not known
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84.

85.

86.

Fill in the blanks with suitable preposition.

Kumaravel has lived in the city 2012.
(A) for

(B) between

(C) within

OV’s

()

since

Answer not known

Fill in the blank with the suitable preposition.

They threw stones the bird.
(A) Against

(BW At

(C) To

(D) From

(E) Answer not known

Choose the correct question tag for the given sentence:

She speaks to none of us, ?
(A) do we?
(B) don’t we?

(C)Aoes she?

(D)
(K)

doesn’t she?

Answer not known
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87. Select the suitable tag

Let’s go home, ?
(A) shouldn’t we

(B) should we

(CW%hall we

(D) shalln’t we

(E) Answer not known

88. Select the correct tense of the verb underlined:

Sarah baked a cake yesterday.

(A) Future tense

(B) Present tense

(C) Past perfect tense
(D)A’ast tense

(E) Answer not known

89. Fill in the blank with the correct tense form of the verb from the options
given below.

By the time Sundar got up his mother food for breakfast.

(A) prepared

(B) will prepare

(C) preparing

( had prepared

(E) Answer not known
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90. Choose the correct active voice for the given sentence.

91.

92.

Litter should not be dropped 1n the streets.

(A) Litter should not be dropped by us in the streets.
(B) Dropping the litter is prohibited in the streets.
(C)  You should drop litter in none of the streets.

( You should not drop litter in the streets.

(E) Answer not known

Select the correct voice:

Work hard

(A)(Active

(B) Present
(C) Passive
(D) Past

(E) Answer not known

Write the gerund/infinitive/participle form of the verbs in the blanks.

Can you 1magine (walk) upto a Martian and shaking
hands?

(A) to walking

(B) walked

(Cwalking

(D) had walked

(E) Answer not known
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93. Pick out the noun that undergoes a change in its plural form

(A) Deer

(B) Scenery

(C)/Foot

(D) Luggage

(E) Answer not known

94, Choose the statements that are correct:

(a) Loss and lost are not homophones.

(b) Loss and lose are correct homophones.
(¢) Lost and last are correct homophones.
(d) Lose and loose are correct homophones.
(A) (a) and (c) correct

(B) (b) and (d) correct

(C)\ﬂa) and (d) correct

(D) (b) and (c) correct

(E) Answer not known

95. Choose the correct homophones for the following sentences:

Shiva filled his with candies.

Madhu carried a of erasers.

(A) Packet, Pocket
(B) Packed, Pocket
(C)A’ocket, Packet
(D) Pocket, Packed
(E) Answer not known

# 30



96.

97.

98.

Identify the sentence pattern.

I painted the car blue.

(A) ASVO
B) SVO

© SVIODO
DWBvoC

(E) Answer not known

Identify the sentence pattern of the following by matching column A
with B.
Column A Column B
(a) Open the door 1. SVIODO
(b) Hw is smart 2. VO
(¢) I painted the wall blue 3. SVC
(d) Igave Rosy a pen 4, SVOC

(ay G® (@© ()
AW 3 4 1
(B) 2 1 3 4
©) 2 3 1 4
D) 1 2 4 3
(E) Answer not known

Select the correct sentence from the following.

(A) Neither food nor water are found here.
(B) either food nor water is found here.
(C) Neither food or water 1s found here.
(D) Neither food and water is found here.
(E) Answer not known
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99.

100.

Choose the correct article for the given sentence:

rice 1s the staple food of Asians.

A) A

(B) An
(C) The
(D)/None

(E) Answer not known

Fill in the blank with the correct article.

There are three rooms and balcony.
(A) an

(B) the

"

(D) some

(E) Answer not known
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Posts of JAILOR (Men) and JAILOR (Special Prison for Women) in Prisons
& Correctional Services Department included in the Tamil Nadu Jail Service.

Paper — 11

PART B : General Studies (Degree Std)

101. Which of the following is/are not an allotrope of Carbon?

Sesreu(mel@TeuHmIeT 6Tgl/eTeneu STTLIGTNGT WITHHI(H e ?

()

(11)

Diamond

eneUTLD

Carborundum

ST Trei_Lb

(iii) Graphite

Flymenii

(iv) Fullerene

(A)

(©)

(E)

Ljebev e

(1) and (iii)

(i) wppis (i)

(11) alone

(11) wL_ P

Answer not known

eflenL Ggfweildena

B) (i) and (iv)
i) wppi (V)

D) @), (iii) and (iv)
(1), (111) wpmb (1v)
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102. A food web consists of

2 NG QUENE) GTRITLIG)I
(A) a portion of a food chain
2 emeys Fraidladluden qr LG
(B) producer, consumer and decomposers
o pugdureriser, p&TGeurt wHmb SasliLier
(CW interlocking food chains
o awreyd FrdleSludler enemriiy
(D) a set of similar consumers
55 pstGeurtlen CgmeLy
(E) Answer not known

cllenL. Agflwuaildane

103. Bandipur Wildlife Sanctuary situated at
LBAILLT cuamelieki@ FFEuTLID enbgeTer @)L Lb

(A) Mudumalai (B)¥ Mysore
(PGILDEDQ MNDEIT

(C) Kerala (D) Rajasthan
GarerT TSR 600G mehT

(E) Answer not known
clenL GgNwueiidena
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104. In evolution, “use and disuse theory” was proposed by
uflemrmbellwieded “Lwer whmbw Lwerhon’ Cariuriyeer wperdwmdbseurt

(A) Charles Darwin (B) Alfred Wallace
gmirevev Lmiedle SpOUTL GUTEE

(C)‘/Lamarck (D) Hutten
QLD QL6

(E) Answer not known
cllenL Qgflwefdena

105. Which of the following compound is used as a fertilizer?

SpssarTL eThas Gamob 2 ywrsl LweTuHdearmer?

(AW Ammonium Chloride (B) Ammonium Bromide
<LCwralwb GGerTanyH owGwreiwnd LGrrenw @

(C) Ammonium Fluoride (D) Ammonium Oxide
DG TETWD i jehany () SbGwraflwbd ysaasf

(E) Answer not known
eflenL. Ggfweiidans

106. If pH of any Aqueous Solution at 25°C is 8, then its pOH is equal to
@@ s seredear pH, 25°C Qavufoeule 8 aarpre, <igar pPOH agne

b ?

A) 1 (B) 7

<€ 0 (D§/6‘

(E) Answer not known
cllenL QgMwuefcrene
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107. Honey is separated from bees wax with help of
Coaman sigenr Guwdled(phg Nés LweaTuBeug)

(A)\/Centrifuge (B) Centripetal
enwalwss aowwCprsd

(C) Polarizer (D) Analyzer
serellenaTeumssl L& LILmeit

(E) Answer not known
aflenL Ggflwelldane

108. If ‘g’ is absent in the Universe, which of the following statement i1s True?
si@TLsHo Helmriy p@Résh @aomadueaiiay &pasamcupmidr arg flureang ?
(A) It leads to the sensation of weightlessness

e uleTenin eTern 2 amiianal GgHURSSHID
(B) It leads to complete destruction
ol o (HéEGamaamal ghuBESID
(C) We have day and night
@re| L& eTaTLIT HID UMT&ESHQTh
(DWBoth (A) and (B) are correct
(&) opgo (B) @ran@id s
(E) Answer not known
e Qafluweildeana
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109. The main component of the food which helps our body to fight against
infections is
bg o amailer Wadw uEgHurseyd Cuend Crmu Gsrhener erdliss Gumyme

2 569 G&wicug b DY&LD.

(A) Carbohydrate (B) Protein
sriGurean. Gyl YrsLb

(C) Fat (D) Starch
Glampliy QuL_MT&S:

(E) Answer not known

sllenL Ggflwaeilcvenaw
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110. Consider the statement in regard to the SVAMITVA Scheme:
SVAMITVA gL Qsrruner siflsmsow seaflujriser.

ey

(2)

(3)

The aim of this scheme is to update rural land records, providing a
record of rights to village households and issue property cards.

dgrouyp HleouufGapaseamera LgUGssH, ATolyns @6 DUBSEEEE
o fleoots UHCGauE euPRIGESD LHOL CQFTEH DL BLFMET  QUPHIGSD
pHwames @SS LsdHen CHT&ESWLM@LD

SVAMITVA is a central scheme of the ministry of Panchayat Raj
and Rural Development.

SVAMITVA arémug ugsemugs 1rsy womib eeps euetiésd) Siamnssssder
wsHw S LiongEb

This scheme to be implemented across the country in a phased
manner over a period of ten years.

@sdb B PpeugILd LSETETHHERHGHET  @(F &L DS
QeuduBissiuiib

Select the correct answer by using the code mentioned below:

&Gy AU Qerer @hHULlenL L uwatu@Bsd sflwurar udaa CarbbgHdsewb.

(A)‘éﬂy (1) and (2)

(B)

(€)

(D)

(E)

(1) wpmid (2) W HGwW
only (1) and (3)

(1) wpgtd (3) wr GGio
only (2) and (3)

(2) wopid (3) 0l GCw
only (3)

(3) LLGCw

Answer not known

aflen Gaflweiidane
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111. Which is a sign of Economic recession?

Qurperrgry gfefler idl@Gd eTg ?

(1) Rising Wages.
2 Wi(HLD Fned

(2) Rise in Unemployment
2 wimb Ceuamevulsmentn

(3) Rapid Industrialization
eflengeurer Qgmfldeieariss)

(4) Stable Political Conditions
Hlepewimen o|réluie @ pe

@ @, @), 1), @
BV, 3), (@), @
© @, @)@, Q0
D G, 1), @, @
(E) Answer not known

aflen Qgflwellebenen

112. Which among the following schemes is a central sector scheme for
comprehensive rehabilitation for welfare of transgender persons?
Bereupd S L msalld Spphamasafier poer LHNL L ACWLTSS WwHeuTHalHamer
e yHenm L b erg ?

AWVEMILE (B) NAMASTE
GUENLDGE pLGs

(C) AMBER (D) WEST
b Gleust_

(E) Answer not known
dlen Gsflweideana
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113. “Digital India” initiative was launched in the year
“lagdil L @BHwn’ ergud werpwhd QEuduBSSIUL L o aETH

(A) 2012 (B) 2013
(C) 2014 (Drﬁw

(E) Answer not known
elen Ggfweddane

114. Who wrote the book “Communist Manifesto”?
“EurgleenL e AUMEMS TED BN GTPSHWIGUTSET W2

(A) Lenin
Qeeaflen

(B) Stalin
eoL_medletr

(C%{arl Marx and Friedrich Engels
&TiTey réev whmib 96Ny fé erisaen
(D) Adam Smith
@b euIflg

(E) Answer not known
allenL. Qg flweildene

115. Kottai Ameer Award for the year 2022 is presented to
Thiru J. Mohammed Rafi of District of Tamil Nadu.

GamienL bt g 2022 ergd SHap. Cm. wawg 159 Qupprt. Qeur
LTI L. S0 E FTTHGHeuT.

(A) Madurai (B)YCoimbatore
LDSIE0 ] GamubySgNT

(C) Tiruppur (D) Sivagangai
Sy Housrians

(E) Answer not known
clen WgMweiidvane
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116. According to census of 2011, the union territory has the lowest density of
population is

2011 gyid yam® wEser Qarmss sansbsBrfearuyg, abs welwuer ATCssssld
W&&ET DFTens L Th @Gepairs o drerg)?

(A) Daman and Diu
LTLOG DM enL_i,
(B) Lakshadweep
L ssday
(C)\Andaman and Nicobar Islands
Sibswrer wHmb HECarunt Sajser
(D) Dadar and Nagar Haveli
ST wHOIL paT anGeuad
(E) Answer not known

e Glgflweidvenen

117. The soll 1s internationally known as tropical chernozems; are
the third longest soil group in India,
gieuCse samaller Qeoutiu weaLe QFTGamblad eTerm HMPSSILLSE Fnlgul LDEIT
, @aneu @pHwimelley epemmmeugy WsQURW T @G Upameus sTTHSS.

(A) Desert soil (B) Alluvial soil
LITeneueUer oG GUGRTL 60 DG

(C) Redsoil (D)¥Black soil
&euliLy wesr S(HUY LDEsT

(E) Answer not known

allenL Qgflwellevenay
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118. The River that does not originate in India.

_ on @bdwunelld 2 (meurens @)dango.

(A) Beas (B)é:clej
“wimeiv sl osh

(C) Chenab (D) Ravi
GlaemmL 7&d)

(E) Answer not known
allenL. Qg flweildans

119. Which type of climate is having the following characteristics?
aThseuams sreblene Weameu(md LiaLsamerd ClamempHererg) ?
(1) Mean annual temperature is above 18°C.

s errefl Qauufleoe 18°C &@ Guwe
(1) Seasonal Rainfall Gin Summer).
U(eusme welp (Camenl sregdle)
(ii1) Stretches over the rain shadow region.
wepaDe| Ligdulld siemwbgeerng.
(A)/Semi Arid Steppe Climate
Ageupar_ LodGaed srabaa
(B) Hot desert climate
S WIATOGITL @ LITEQEUETS STehlend
(C) Mesothermal climate
BlgQauliu ryé sraflencvaer
(D) Tropical Moist Climate

QeuliLweaL_e e sTaflame

(E) Answer not known
aflent. Ggflweddana
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120. Ozone layer concentrates mainly above 10 to 15 km from the earth’s
surface. This layer is known as

@Cenen P& Wasdworsl yiluller Cupuriied @mobgs 10 wad 15 £.85.66
Cé @ellpgieTerg. Sigem OuUwir ereme ?

(A) Troposphere (BMEatosphere
CGCyrGumeviQuirr Gy GLmeviQwirr

(C) Mesosphere (D) Ionosphere
BCerev Qi SwGerrrev i

(E) Answer not known
aflen GgMweiicvenay
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121. Choose the correct options among the following major tribes in
Tamil Nadu

Yera(meueTeubmeT SLNDBIL g6 (PSS LILPHIE Iy udlar ?
(1) Kurumbas

GObuT
(1) Paniyan

=i

(i) Toda
Gami
(iv) Bhaina
eoLiarar
(A) (1), (1) and (iv)
(1), (ii) wpgd (1v)
(B) (1i), (ii1) and (v)
(i), (ii1) wpmio (v)
WD), (i) and Gii)
(1), (1) wppud (111)
(D) (@i1) and (v)
(iii) wppd (V)
(E) Answer not known
AerL QzAucddama
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122. Name the type of government existed during the Gupta period.
GLST sTsHe @IBES Sremhssder umsamusd GHUELab.

A)

(€

(E)

Polyarchy (B onarchy

S L& P&
Anarchy (D) Autarchy
SIS U8l aCassdany L&

Answer not known
aflenL Qgflweiideane

123. Khwaja Jahan was the Wazir of the following Sultan
GEUTRIT WADTET eraIcUiT SPdsaTL sdgmele eudm s B(Hhgeui

(A)

(©)

()

124, Which among the following dynasties levied the tax known as “Chauth”?

Mohamed Bin Tuglaq (B) Firoz Tughlaq
(Pp&ngl e giGens QuCrmev Fi&ers
Mohamed I (D) Tuglaq Shah II
(PSOMD (PSLDF) @ IETLTD HEETE QT

Answer not known
denL. Gsfweilaena

Hemau(md sirasaild, eabg irs ‘Qeard’ eariu@o uflew fssg 2

(A)‘/Marathas (B) Cholas
LDTTL g I Campraer
(C) Chandellas (D) Mauryas
FGHTIg GTITEN Qerfluwifaer

(E)

Answer not known
aflent. QgMurelidvane
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125. The last ruler of Sangama Dynasty

SRS aubFsdler saLgl werant

(A) DevaRaya -1 (B) MallikarjunaRaya
sombd Gseurmu LD6b @Ol & TiTego e T ir
(COV Virupaksha — 11 (D) DevaRaya — 11
@rerLmb ef(pursasT @ rermb GCgeugmuir

(E) Answer not known
cflenL Gsfweilcvena

126. Konark Sun Temple is also called as
Carantié &NwsCarelled ereueunm HewssliL@BEng ?

(A) Blue Pagoda (B) Golden Pagoda
Ba uGarGLT ghig LGasTLT

(V¥ Black Pagoda (D) White Pagoda
&muy uGsTLT Qeudrener LIGaETLT

(E) Answer not known
ellenL Gsfweilcvenen
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127. An astronomical observatory near Dauladabad was built by
QaerosrUTESHE@& Simald euraflued e &emL b &l iguieul wmr?
(A) Alauddin Hasan Gangu
e Ser anser &miE
(B) Mohamed Gawan
(&G S metnT
(C) Humayun Shah
QIUCLOMLLEH @Il
(DM Firoz Shah Bahmim
GuCGrrasr umdlef

(E) Answer not known

cllenL Gz Muefdenc

128. Every person has the right to freely practice his or her faith established
and maintain Religious and Charitable Institutions.

geulleum@m pL@ED sarg BbNsmamus s&shironss o L9y ss o faw o .

g wHmw Csraw® Hpeuamsaer Fmeua|b urToi&Esea b o fenio
CaeailiLphdngl.
(A) Rights to Freedom
a&apd T 2 fenwo
(B) Rights to Equality
& 2. flevw

(C) Cultural and Educational Rights
sor&sTy HMID el 2 fepwo

(D)\éights to Freedom of Religion
g spbATESDEan 2 fevio

(E) Answer not known

cllenL QgMweilcdrena
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129. Who described “Administrative Law as contrary to the Rule of Law”?
“Blfeunss sLLID, UL sdlem 2l fl&s @U@zy’ eren elleuflggeur wimt?
A

(A) P.C.Jain ( .V. Dicey
P.C. Qguen AV. Qrwed

(C) Ivor Jennings (D) C.F. Strong
geuit Qgenefimie C.F. evigmm

(E) Answer not known
eflen Qaflweldana

130. The aim of appointing the Sarkaria Commission was to make
recommendations on

gramiur eamub aass GhHsg L UAbgmrss Siemwssiiul L g ?
(A) Eradicate corruption
2a1iped Uity
(B)\/Centre-State relation
getdlu - wrble 2 peyser
(C) Develop Local Administration
o érerm & Flireuns Guobum(p
(D) Study the Levels of Administration
firairs Hlaosar GHssH <Tmw
(E) Answer not known

aflen QgMwellevenay
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131. Which article of the Indian constitution states that the Executive Power
of the state shall be vested with the Governor?

@@ wrhlogdler Geuardmb Ndsrrrsd YEEEALL GMHEEGD eard smb
ey edldl ergy?

(A) Article 153 (B)* Article 154
94 153 98 154

(C) Article 155 (D) Article 156
a94 155 94 156

(E) Answer not known
sflenL Gigflweievana

132. Which of the following is not matched correctly?
AereupeuareupBled ergy eflwungy QurESSLILIL efdena ?
(A) The Protection of Civil Rights Act — 1955

Slefler 2 Menwser LTgemiiys s b — 1955
(B) The Wildlife Protection Act — 1972
euaTellemid umgamiigg L ib — 1972
(C) The Forest Conservation Act — 1980
euerls ungsmiyg &L — 1980
(D)‘Am Representation of People’s Act — 1957
wé&aar Qrdfldsges s — 1957
(E) Answer not known
alen Qgflwaievanen
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133. Which of the following statements are true about fundamental duties?

SigritenLé sLewwsamarts uplw Yereupd Gemmlprefsafled ereven sNwmaraneu ?

(i) To provide free and compulsory education to children between the
age 6 — 14 years

6—-14 cuuwg o6TeT GHUE®EEEEEGS @Qoeus LOHMID SLTWE H6
AEJIOF- T

(1) To safeguard public property
Quigd Qemsamsl LUTESTESD
(ii1)) To develop Scientific Temper
Sifleflwe warturiidaar cuaTidgié Gamdrered
(4) (@) only
(1) U {Hibd
(B) (11) and (i) only
() wpgid () @yduer v
(C) (1) and (ii1) only
(11) whmibd (111) g fwier L Gb
(D)/(i), (11) and (iii)
(@), (i) wppid (i) s Huenas
(E) Answer not known
eflenL_ GgMweidane
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134. @) The Fundamental Rights are enshrined in Part III of the
constitution from Article 12 to 35.
siglueL 2 flewsd ugd 1l Qo srnGfey 12 wgd 35 ey
GO Qererg

(11)  Part III of the constitution is rightly described as the Magna Carta
of India. '
@ipdwreilen wan sread aengy Naufsstu@dpg ued 111

Which of the above statement 1s/are true?
CupserrL gmpled ergl/eraneu sflumang/efurarane ?

(A) @ only
(1) b
(B) (i1) only
(1) wr_Hib
(C)\(i)and (ii)
(1) oy (11)
(D) None of the above
@eupdlév eTepauuyd @erane

(E) Answer not known
el Gsfwefdwenc
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135. The foundational objective of enacting the Right to Information Act is to
ensure

g&aI DMujib 2 Mepng s Lib @uppuul L Sler g liuen CBrésmeug
(A) Social Justice
5eps B

(B) Economic development

Qurmermgmy euerids)

(C) Efficiency and effectiveness of governance
Qewuodpayb, QFudeadambuwrear 8 e
(D)\Accountability and transparency in governance

Qurmtiuner, gefley wepeunn L' & (e
(E) Answer not known

aflenL Glsflwedidene
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136. Delhi has emerged as the National Capital territory with a legislature
and a council of ministers by

QL el &L werpd wHmID ewwisraauLit 6 gigw Csflwug smepaTl LGHuTs
2 (HAUMESILIL L HTEMLLILEF LG H(HESSD.

(A) 65t Constitutional Amendment
656181 Sig@wdlIl & LSS [SsLD
(B) 67th Constitutional Amendment
676ug sifgawlL &L LSS (HSSLD
(C?/69th Constitutional Amendment
69eugl SigsanLILY FLLES(HSSD
(D) 71st Constitutional Amendment
Tleug ysenliy LSS (HSSLD

(E) Answer not known

alenL Qg flwelcene

137. According to the Human Development Report (2020) India ranked at

place.
weflg euer GubuTL( SiPsmasearuy (2020) @bdHwun STLILL g W6D
QL g8 o drarg).
&) 159 @M1
(C) 100 (D) 50

(E) Answer not known
ellenL GgMuwadlcrans
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138. The lines “We can’t live happily as islands in a sea of poverty” were
propounded by

“eupienind sLadle Seyserns Brmsdr wHPFAL LT eumpupyung” erern QEThaaer
@ mfiBgelt
(A) Mr. Nilkantha Rath
. posrps s
(B)\A/I.S. Swaminathan
6TLD. 6T FEUTLOIBIS 6
(C) Dr. V.M. Dandekar
LrsL T od.6Td. samGLam
(D) Mr. P.D. Ojha
8@ G.q. egr
(E) Answer not known

eflen GgMwellidbena
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139. Arrange the following Events in Chronological Order

Epsaramid Hlapeysmear srwanilumg cuflaslusgs.

(1) Regional Rural Banks

el Ly Slymo eurudlger

(2) Seeds Bill
cleng wGemgT

(3) Comprehensive Crop Insurance Scheme
pohrdmanbs LT sTUSLES S
(4) Kisan Credit Card

Sgnar sLaT S L
Ay (3), (1), 2,4
By (@), 3@, D)
OV (1), (3), (4), (2)
D @, @), @), D)

(E) Answer not known

edlen Qafweilcrenc

140. Which one tax is not related to direct tax?
s qeh aufl Corg euféE CgrLmldangg ?

(A) Gift Tax (B) Wealth Tax
peGlaTenL euil Qersgy eul

(C) Income Tax ( ustoms Duty
qu(mLTar el Fhis eufl

(E) Answer not known
efan Qgflweilcency
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141. Which of the following function/s is/are performed by the Reserve Bank
of India?

Epsaarr_ uiaflsefidr Asre cunidl CupGardrenb Lafladr g/ aama ?
(1) Issue of currency
varsens CeuafluiBised
(2) Control of Bank Credit
andl sLsgamens sL(HLUB SISO
(3) Bankers to the Government
oirflem euidl
(4) Control of Exchange rate
vy digsmss sLHLUDSTIS
(4) (1) only
(1) v @w
(B) (2) only
(2) v @b
(C) (1), (2) and (4) only
(1), (2) vogd (4) LED
oV ), @), @ and (@
(1), (2), (3) wpmiw (4)

(E) Answer not known
aflani Qgflweiidwane
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142. Atal Innovation Mission was developed by ___

St e @enGearmGeuager LOameh 2,60 CubuBssiulLg.
(A) NASSCOM

BIGVSTLD
(B™ Niti Aayog

i A TRESTH -

(C) Bharat Interface for Money App
LngS @& esGuen oL wenfl Glauwed
(D) Pradhan Mantri Gram Sadak Yojana
Qygrer wHMA Hymb & Guirgerm
(E) Answer not known

eflenL GlgMuwedlcrana
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143. State whether the statements are true or false.

Epsaat gpmiseT &flur geupm erauangs @GHILIAL6yb.

(1)

(i)

In Mixed Economy, both Public and Private Sector Co-existence

soligl Gummermgrrsdled, Qung whmb selwurT gean @rarhin @aarba)
Brsse

Mixed Economy followed by India
@sdwurede syl Qur@weartsry pep WetupoliiLREDg).

(A)Aoth (1) and (i1) are true

(B)

(€)

(D)

(E)

() wopd (i) @reru of

Both (1) and (11) are false

@) wppid (i) @raw@i seuprarana
(1) is true but (11) is false

(1) 8 ; spemed (11) seuprang

(1) 1s false but (ii) is true

(1) seupreng; gamed (11) &
Answer not known

clevL. Qaflweidene
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144.

145.

“ with their blood sacrificed, these heroes have established
traditions, which the future soldiers of free India shall have to uphold”.

Who delivered this statement to the soldiers on 18th March 19447

" Seuiseflanr @rsss Hunsbd epeobd, @bs wreiriasedr &sBIT
@idHureder  eumpmasre oSyiset  Heaefnss Ceamqw urpoufukisaen
Blm el eremanit’

18 wrirs 1944 <ieny @rramieu airis@rsE Qbs SiPsamaamnu upkidweul wimr?
(A)\élbhash Chandra Bose

suney gy Gume
(B) Pattabhi Sittaramayya

L LmQ fssrrenowm

(C) Captain Lakshmi Sahgal

CaliLenr el &b Cosed

(D) Rash Behari Bose
greiy Wanmfl Gume

(E) Answer not known
alen Gsflweidend

The famous Patriotic song “Sare Jahanse Acha” was composed by

“grCr panrmGe wisst” aatp usp Gupp Cseuupm Ln @ CsT@sse

(A Rlohammed Igbal (B) Nehru
(PSWLG @SLmeD Crm

(C) Tagore (D) Syed Ali
STan T MFLIG 6D

(E) Answer not known
clen Qg flweldene
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146. The “Do or Die” campaign became popular through

ahs QuissHer oowts Qel  siweg QEsging”  edaeb  GrFeTyD
SPlwtiil’ L g ?

(A) Khilafat Movement
farus Qusad

(B) Non Co-operation Movement
RSP QUISED

(C) Civil Disobedience Movement
FUL puy @wésd

(DW”Quit India Movement

QeuatemerwCGer CeuallCum Gussd

(E) Answer not known
adlenL Ggflweiideana

147. Who was known as the Heroine of Quit India Movement?
QeudtanemruCGen QeualCwmy @ussser ssmbTLd arsd amsLULGLIGUT WTT?

&3 Aruna Asaf Al (B) Madam Cama
SI(HEMTT BpFL T 460 GuLb smom

(C) Annie Besant (D) Ambika Charan
erefl QusaTL. ST Fretr

(E) Answer not known
afleni_ Cgflwedvana
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148. Rajaji started the civil disobedience movement on

@rrgred s wyuyG CurprlLsmss Ggmemdw prer

(A) March 12, 1930 BWpril 13, 1930
wrrg 12, 1930 gurer 13, 1930
(C)  April 29, 1930 (D) April 30, 1930
gréd 29, 1930 guge 30, 1930

(E) Answer not known
afen_ Ggflueiidbane

149. Sardar Bhagat Singh was hanged at
shigni Lusssn grédled i L @ b

(A) Delhi B ahore
QL el OM&nIT

(C) Calcutta (D) Chittagong
FOEHEST Sl g

(E) Answer not known
aflen Qgflwedcenco

150. Choose the right answer:
sflurer eflenLemwis Caibbls(Hiés:

In which place Lord Canning published the Queen’s Proclamation

on 18587
&.9. 1858-&0 sgrafl Yyy eps QLsHd  wsmmemflunt  GrsLersems
QeuefudLmr?
(A Rllahabad (B) Delhi
SETUNS QLeved
(C) Bengal (D) Kanpur
QUEBIGTETLD &L

(E) Answer not known
aflen Qaflwedidena
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151. Adichchanallur site was first excavated by
2 HEFHOQINT DFDeuUMLImE (Paa(pseiledr Conbameam e

(A) John Marshall (BMAndew Jagor
ERMEST LDTTagpEd el orGami

(C) Bruce Foote (D) Cunning Ham
Ljemei LI senafli ammib

(E) Answer not known
ailenL Gsfwellcana

152. What does the word ‘Sangam’ denotes?
‘FRISLD’ eTemp ClFTER Tangd GMEE DG 2

(A) Assembly of Elders (B) Assembly of Artists
Quilweurseflen oieme senaEpTaaier oamau
(C)/A'ssembly of Tamil Poets (D) Assembly of Tamil Kings
S0DE s6llEnTEHeT Sjenau SLOD DITETHET jene

(E) Answer not known
eflen Qgfweldana

General Studies 32



153. The battle that gave a severe blow to the Vijayanagar Empire and there
by paved the way for the transfer of capital from Vijayanagar to
Renukonda was

ggupary  Cuirssg Wasuduflu  Gsrddleow  CQer@ésgid, soQbsT
dmupsrsdd @Q@opbs CrapGsrarinahe wrHp eeassgiorer  Gumd

(A)‘/Battle of Talaikotta

sanesCGartan Gum

(B) Battle of Toppur
Gariyr Gum

(C) Thiru Purambiam War
Amriypwiwn Gumr

(D) First Carnatic War
WPs® srpTLsEs GunT

(E) Answer not known

allenL Gsflueicdrensy
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154. On 2nd November 1927, the Manimegalai Sangam, a Devadasi Women’s

Association organised a meeting at Coimbatore under the presidentship
of

wmmenLw sevvanwuller & peubur 2-b Cgdl 1927, vafiGoasma suab aeardp
Caeugndl Huamaseaiian s gl Lib ghur® Gewwtin L g?

(A)\/('lhoudri V. Konambal
Qeeansdf 6fl. GasnermbLimer

(B) Dr. Muthulakshmi
LT&ELT (psgitlen &Ll

(C) Mrs. Annamma Raja
F(mod Diereribiom g T

(D) Mrs. Annie Besant
Hmwd jeraf Gugearrl

(E) Answer not known
allen GAsflueiicvensy

155. Who among the following personalities introduced the ‘Self Respect
Marriage Protection Act’ in 19687
ECip Qar@ sl Leurgeafled Wt 196810 yarh swwflwrens Spoenr UTGETLLE
sLI_gang SMlapasinBhisHuie?

(AWM Perarignar Anna (B) Rajaji
Guudlep o esremrm @rreymed)

(C) Bhaktavatchalam (D) Kamarajar
U&SeUSHFeLD TN

(E) Answer not known
cllen Qg Mwefedrency
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156. C.N. Annadurai join the Justice Party in

F8 s A §.ere. DiRTRRTTZIMT Cerpgm.
Ay 1925 A.D. (B¥1935 A.D.
&.9. 1925 &.9. 1935
(C) 1940 AD. (D) 1947 A.D.
§.19. 1940 &.19. 1947

(E) Answer not known
aflenL Ggflweliidene

157. Why EVR Periyar started Self-respect movement?
Qe gr. Quilurt swwfwures @usssms ger QgTLmdeanTi?
(AW To abolish caste system
g1gl @lnpars
(B) To abolish religious
FLWRISMET PILILISHETSE
(C) To abolish Brahmanism
Arroetiugdener @EILLSHSTS
(D) To abolish Congress
srudlrflevan @OILSDHETS

(E) Answer not known

elen Ggflweilcrene
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158. As what animal should we become while doing a work; from the Kural
“Kokoka Koombum Paruvathu™?
“LErEQENES snilbLD L(Heusg) ' ... eTem @meile etengl) Gunenrny srllLsans (P4 &s
GeuamRGlwerm eudT@neurm s mdlpmi?

(AM Crane (B) Turtle
AL 03 2D

(C) Rabbit (D) Ant
(Lpuwied eTmIDL|

(E) Answer not known
eflanL. Gigfweldeana

159. What are the vices of the King according to Thirukkural that makes the
King not liked or offensive?

wesrenesilen @moworer @wel ergbeuen HmsGner gnndng 2

(A) Unwanted Pleasure (B) False honor
CeuamLmg wélpss Qumiwiman TeTD

(C) Stinginess (DAI three
&HEHESSEMENLD @\bepermih

(E) Answer not known
clenL Gsflwueidens
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160. True saints need not show so by their outward appearance, if they
abstain from things that are universely considered wrong would
automatically lead them to Sainthood - State the Kural with this
meaning.

Spsaremib Gunener 2w HmsGpaer Cairs.
"o gmeppwiren gipedsar Geud Gure Geudmgw GCsepeuwiiden®. 2 sb LIPS e
seupnen Cswdsamer psgielReug oaCn gipeaiaessE Coauam@eug
(A) Vaanuyar Thotram Evanseyyum Thannenjam
Thaanari Kutrap Patin.
aunenuwiT Campmb ereuar@aliuyb genblargpen
srardl GHoU Lig e
(B) Purangundri Kantanaiya Renum Akagundri
Mukkir Kariyaar Utaiththu.
Upri@gerdl sepr_enearu Creb Sismki@enD
epsdlh sAwurt 2 andg).
(C) Manaththadhu Maasaaka Maantaar Neeraati
Maraindhozhukku Manthar Palar.
DETSSS OTFTS DTEHTL T By
LOENMBHIER (P& OMTHST LIGIT.
(D)‘/Mazhiththalum Neettalum Ventaa Ulakam
Pazhiththathu Ozhiththu Vidin.
LPSsaD B gib Ceuat m 2 @slb
Lisss @Piss el
(E) Answer not known
aflenL Qg flueidenc
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161. What action is greater than the world itself?

esresdlen wrenr) Quilg erg)?

(A)/I‘imely help
588 srasSd Qewiiu@n 2 geil

(B) Help in anticipation of benefit
Lwepar erdlruniggs QFiwn 2 gedl

- (C) Assistance in a timely manner

Qurpenbwrss QelwiuBb 2 g6

(D) Useful help
LwGeanm(®) Fnigw 2 H6fl

(E) Answer not known

e Ggflweicvane

162. Who wrote the drama titled “Yaarukkum Vetkamillai”?
“wmmaEb Qeul silldanay’” ererayld Brssdenar erapdwieui wmi?

(A) Mouli (B) Crazy Mohan
Quwerad £Cr8 Gonger

(€W Cho. (D) S.V. Sekar
Gar ereiv.efl. Gasi

(E) Answer not known
slenL Ggflwaldrana
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163.

164.

Which of the Azhwar is very much involved in Ramavataar?
@rrw Seusmsde WGps FEUTEH ClsTemL. ppeurt wim?

(A)/Kulasekarar (B) Periyalwaar
GCasyT Quflwmpeurmd

(C) Aandaal (D) Thirumazhisaiyalwaar
<D EHTL_TETT gmiflenswimpeuni

(E) Answer not known
eflen GAsflueidena

Who is the author of “Mullai Paattu”?
“apebepeuls UMl (R - eTegid Hrediew pEflwm wimi?

(A) Nallanthuvanaar (B) Nathathathanaar
hEDQUIHGI6L GTITIT BESSSETTIT

(C) Nakeerar : (DYﬁapboothanaar
B&ETiT BLUILLSETITT

(E) Answer not known

aflenL QaMweildancy
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165. Match the following:
sflurercupenp QuNHESES

(1) Nazhigai Vattil

Brlens Gullged

(11) Nazhi
B

(111) Ambaram
S LbUFTLD

(iv) Padhakku
Lg&S

@ @ ()
A 3 4 1
B) 2 3 4

CcvE 1 2

D) 1 2 4

(E) Answer not known

eflenL Qaflueafdeane

(iv)

2

1
3
3

Smaller measure
AP emanen

Larger cubic content
Quilv sprCasnem erene

Measuring horse gram
Gdeny Symd ey

Hour gram
Cry Semey

166. In Tamilnadu the Electronic National Agricultural Market Portal was
launched in

SOPETRG Czw

efleusm  SléTeram  SBsTRSETET  @enemT  (P&LIL

& QET_mslIul L g).
5 &l

(B’{pril, 2016

(A) April, 2015
erarey, 2015 erlred, 2016
(C) April, 2017 (D) June, 2016
eriiger, 2017 a®er, 2016
(E) Answer not known

aflen QgMwelicvenen
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167. 1s the first state to establish Bio-technology part for
women 1n India.

G pdwmeie wrbleb psdld wesellt 2 W8iTs Cemfldm Ll
marene Gam_rhdluig,.
(A)/Tamil Nadu (B) Kerala
SOILPBHT(H) Gayerm
(C) Gujarat (D) Punjab
GRS LIeh&mL

(E) Answer not known
aflen Glgflweddvanen
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168. Match the Industrial Development of Tamil Nadu as per the policy note
of Govt. of Tamil Nadu 2021-22 with their corresponding ranks given in
Indian level.

sllps rflen  Qamdrenss @Moy 2021-22 6 ug slp priGs Csmfled

auaridfleows  gCarm(  Gamryerw @i

QuITBHEHS.

(a) Textiles
giawfl

(b) Food processing
o_awall LSULIHSSHD

(¢) Rubber and Plastic
ThuT wHpb Qpdlp

(d) Automobiles and Auto Components
cungenm 2 HUSS HMID eunses 2 fl Linshiser
@ ® (© @

Aa 1 3 2 4

B) 3 2 4 1

OV 2 4 3 1

D) 4 1 3 2

(E) Answer not known

aflen Ggflweldame
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siareflarer  greuflansGuim(

1. First
WP AL_Lb
2. Second
@ rer_mslLib
3. Third
| e mLSlL D
4. Fourth
BIesTHTINL LD



169. Which is the first state to employ differently abled, in the Mahatma
Gandhi National Rural Employment Guarantee Scheme?

wersor  shd Csflw caps CGauee e@miiy o mfs S gda, oroms
Sperrefisaner uenflwwirgdw apged wrhleb 6rg ?

(A)\/amll Nadu (B) Kerala
SOIDETH Cayerm

(C) Karnataka (D) Gujarat
SMBTL&T GHRTTE

(E) Answer not known
allenL Qgilwelcane
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170. TNHSRP focuses in particular the projects:

TNHSRP b ghuunss seuard Qeqssgeuear

(1)

(ii)

(111)
(iv)
(A)
(B)
(©
D)

(E)

Reducing material and neo-natal mortality rates in Tamil Nadu
sUlpssdler Aurpem whgd Iphs Gipbws Goly ddgnsmens GoDSSH
Improving tribal health

upriGgiarter g Grrsdlusams Cobubisgsd

Facilitating use of hospitals by underprivileged groups

GegmdlL Gp&ser wESFHalnmarsamert LweauBdgielems eurGebme
Accidential care

aflugg Ligrofloy

(1) is true but (iv) is false

(1) eameno yearmed (1v) Qumiy

Both (1) and (ii1) are true; and (iv) i1s not a correct answer

(1) opmb (111) @rearHib o grenw. e (1V) eremig sflurar LS <ida.
(1v) 1s true (i11) is false

(iv) 2 @renlo yermed (111) Quimis

Both (i) and (iv) are true, (11) is false

(1) opmid Av) Qrer@b e arew. (11) Qumdl.

Answer not known

elenL Qsflwiaierenay
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171. Tamil Nadu Police Museum is located at
SODBTH STeuT BIHRUSTLALGID 6THIE HMDHE ETerg) ?

(A) Saidapet (B) Triplicane
awggTlGLL enL S (meucvell&Ga anfl

(C)Agmore (D) Tambaram
eT(LPLDLLIT STLOLITLD

(E) Answer not known
elen Qgflweildene
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172. Tamil Nadu Social Welfare Board (T.N.S.W.B.) was formed in the year

SWOIPBTH Fepspbe eurflub o weundaliuil L gyar()

(A) 1953 (BY(954
(C) 1955 (D) 1965

(E) Answer not known
aflen Qgflwelidane

173. Tamil Nadu government has decided to introduce % of
horizonal reservation for government schools in admission to medicine
engineering and other courses.

slpsgsler Qumbluiue, wmsgeubd wHML Gsr uglyselle Gy %
QL 98650 @ral udaalseales LWAQID wLrETEUTEERSE 6UPEs OIS T&H
wuCepgglererg.

(A) 6.5% (B) 7.3%

(C)\/’Tﬁ% (D) 7.7%

(E) Answer not known
edlen Gaflweldvene
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174. Match the following:

QumTESss
Year of the formation/
Association/Party Establishment
&8/ @QussD Compmiellsaiul L. 2am@H
(1) Madras Dravidian Association 1. 1916
Gl grev Hyrell @uissd
(11) Self Respect Movement 2. 1925

subflurens @uEsED

(111) South Indian Liberal Federation 3. 1944
Cgenefl bHus HTrTeTenss dnl L enibliL

(iv) Dravida Kazhagam 4. 1912
ArmeilLr spsLd

on @ G @
Aav%d 2 1 3
® 1 2 4 3
© 4 1 2 3
™ 2 4 1 3

(E) Answer not known

ellen QgMlweidene
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175. Swadeshi  Steam  Navigation Company was launched by
V.0. Chidambaranar at Thoothukudi. He purchased two ships
and and plied them between and
al.e. Agbugermgred grsssGguile &Cséls sliud Bpeueand QgrimslulLg.
B{GUIT , e QuuirgeeryedLw Qe SUUOSET

uTRIE T, eneu &@&L s@b el Cw QFsslir L g
(A)\/Galia and Lavo; Thoothukudi and Colombo
sredlwr, ewrGeur ; grégid@y., Qargiby
(B) Tania and Galia; Thoothukudi and Burma
LT, Sredlwin ; S1$&&@G\g., LITom
(C) Tania and Lavo; Poombhukar and Burma
Lmemwm, eomGeur ; Lyby&TT, Lifom
(D) Galia and Tania; Thoothukudi and Indonesia
sTedlwim, LmemwuT ; grésis@y, @nGsnGardlwim

(E) Answer not known
ellent QgRweidane

176. Lokesh invested ¥ 10,000 in a bank that pays an interest of 10% per
annum. He withdraw the amount after 2 years and 3 months. Find the
interest he receives

argnEg 10% &igd ey sBb @n amdld CorGsay ¥ 10,000 aeuliy
Bfwrs QegpsHenmii. ssGsTmsmu 2 war(hisar 3 LIehsEEEGU GDnE Dieui
Smwut Qumpdlomi. eur QubHD UL 14eMWE STaTs.

(A) ¥ 1,750 (B) T 2,000

(CM % 2,250 (D) ¥ 2,500

(E) Answer not known
elen Qgflweidana
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177. If a principal is getting doubled after 4 years, then calculate the rate of

178.

179.

Simple interest

@7 sorargy 4 garhseld @uarh wrmardlpg el g sefl eulig
Sesenss snems.

(A) 20% (BY{5%
(C) 30% (D) 50%

(E) Answer not known
cllenL Gsfwelerenay

In how many years will a sum of ¥ 5,000 amount to ¥ 5,800 at the rate of
8% per annum?

assames amhsaild 8% el aiggdd T 5,000 wrarg T 5,800 =& wrmb.

(A 2 years (B) 2% years

2 sy cirpser 2% sypam@piser
(C) 3years . (D) 1year

3 gy & (H &eir 1 sy

(E) Answer not known
slenL GeRweldrensy

Two dice are rolled together. Find the probability of getting a doublet or
sum of faces as 4. ‘

Qraw( useLser 2@l uufSapar. @Qrar( (P& WLIHULSEHD SIS @)(H5E
g s wHuysellar smbhgd 4 Us QmEs Hlahssmeis e

@ Y ® %

© 3 (ﬂ/

(E) Answer not known
dilenL QgRwailcrene
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180. A man has two children and atleast one of them is a girl. What is the
probability that both children are girls?

FOAIBES QIO GRE@FHET LHYD FoTAg RO GPHES LU GPHES.
Qe GPEessEsh LT Gphassans QHés Hahssea| eTearer ?

@AY y B) %
© Y D) %

(E) Answer not known
clilenL QgMweildane

181. At what rate percent per annum, compound interest will Rs.10,000
amount to Rs.13,310 in three years?

ETREG obhs aNfssded, &mliB eally 3 eanhsalo e5.10,000 Qgrans
@.13,310 o5 @BéEGD?

A 9% B) 7%
(C) 8%% (OY10%

(E) Answer not known
eflanL Ggfwelldana
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182.

183.

184.

In a Laboratory, the count of bacteria in a certain experiment was
increasing at the rate of 2.5% per hour. Find the bacteria at the end of
2 hours if the count was initially 5,05,600.

@ pilaussdd @m GHudlL Gergaarleo umseflunsseflean oradraisams
wenflsE  2.5% disd  odsfllssy wumdpg. wrousded urseflurssaien
canefseans 5,00,600 =& @umhstedr 2 wenll Cvy @puyeld wursefwrsseden
el Eamna eTeueueTa ? ’

(A)~/531196 (B) 539611
(C) 511396 (D) 539116

(E) Answer not known
clenL Ggflwelevene

The length, breadth and height of a cuboid are increased by 10%. Then
the volume of the cuboid is increased by %.

anm sar Qecwueussdear feor, se 2wrhmsd wapCu 10% ofsfsen Curg
DS6T sen erey A ENGGL FHeisd eremer?

(A)  30% (B) 33%
(C)‘/33.1% (D) 33.3%

(E) Answer not known
cllenL GgRNweiereney

The surface area of a sphere is 154 sq.m. Find its diameter.

@ Carargdar Lypriugiy 154 &.05. aafldr igen Al Lib snems.

AWM7 m (B) 10.5 m
7.8 10.5 8

(C) 14m (D) 21 m
14 8 91 8

(E) Answer not known
efienL Gz Mwedranay
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185. The volume of a cylindrical water tank is 1.078 x 106 litres. If the
diameter of the tank is 7 m find its height.
Qb o (mever cuigeu sawmantt Qgmiquier ser erey 1.078 x 108 el @b
Qamiiguier L 7 t5 eraflér Sigeam 2wy smeir.

(AF/ZS m B) 7m

28 8 78
(C) 78m (D) 18 m
78 8 18 8

(E) Answer not known
afler Qgflweiidvena

186. If the HCF of two numbers 36 and 156 1s 12, then its LCM is
36, 156 eretp @ eramasafian W.Qum.e. 12 eaflléd seupdler 15.Qum.b.

(A)\/468 (B) 452
(C) 152 (D) 156

(E) Answer not known
e Ggflwalarensy

187. If £ 1s the nth term of A.P., then tsn — ¢ 1s

tr ereiLgl @ LB Ggrireuflensulen n-eugl 2 muy eafld, f2n — tn - e

LI
(A)\/nd (B) (n+ 1)d
() (n-1d (D) nd + 1

(E) Answer not known
eflen_ QgMweldane

General Studies 52



188.

189.

190.

Next term in the sequence 3, 7, 13, 21, 31, is
3, 7,13, 21, 31, erap Qsrfle oihss miiyy

A) 39 (B) 41
(C)\é& (D) 45

(E) Answer not known
dlenL Ggflweldrene

Find the value of (13 +23+33+...+15%)-(1+2+3+....+15)

WLy SreRTs. (13 +23 433+ .+ 153)—(1 +2+3+....+15)

(A) 14400 (B) 14200
(C)‘/14280 (D) 14520

(E) Answer not known
cllen Ggflweldveney

Find the GCD of the following:
(x* - 27) (x - 3}, (x* - 9)

(.’)C3 - 27), (x - 3), (x2 - 9) @eupdler B5.Qur.eu. sres.

AVTx-3) B) (x+3)
©) (x-3f D) (x-9)

(E) Answer not known
fen Qg flweiidvency
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191. The product of 2 two digit numbers is 300 and their HCF is 5. What are
the numbers?

@Qren® rilowss eavsallsar Qumsspuwear 300 wHmb Heupdlar B.Qu.s1. 5 aafld
S{euGleuaiTaeT wmeney ?

(A)/(15, 20) (B) (10, 30)
(C) (50, 60) (D) (25, 12)

(E) Answer not known
cllenL Gsflweldvena

192. Study the following and answer:
[4-1+32x2+10]+[7+3-8x4-7]=?

In the above mentioned problem, If all — are +, all + are x, all + are —,
all x are + then, what will be the result?

Spsar_epern seuallsg ellenwafdaeyib.
[4-1+32x2+10 ]+ [7+3-8x4-T]=?

— eratugl t+ eramayib, t eTeTUG — eTEeLDd, + ETATLG X GTEeyld, X eTeLIg + erara|b
QamerLmed eu(pLd WSILIL| SmemTeyLb.

A 210 (B) 260
(C)‘/soo (D) 840

(E) Answer not known
aflenL Qg flweildena
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193. If AT = 20, BAT = 40 then What will be equal to CAT?
AT = 20, BAT =40 araflleo CAT arénmug ersh@ swib?

A 30 (B) 50
(C)'/GO (D) 70

(E) Answer not known
dlen QgfNwelcvenen

194. X, Y and Z can do a piece of work in 4, 6 and 10 days respectively.
If X, Y and Z work together to complete the work, then find their
separate shares if they will be paid Rs.3,100/- for completing the job.

X, Y opgd Z fCunt g Cumamwu weapCu 4, 6 wpmb 10 prarsefe

ot X, Y whmib Z epflu apeumd gearmCenps sips Ceumaenws (pyssme,
DFHETE HeuiTsErsE m.3,100/- aprstiu@w. aaflld, s gaflssalGu

QU URIGSMETS STaTs.

(A)\/1500 : 1000 : 600 (B) 600 : 1000 : 1500
(C) 700:1100:1300 (D) 1300:1100: 700

(E) Answer not known

clenL Gsflwellevena
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195. Madhavi and Anbu bought two tables for ¥ 750 and T 900 respectively.
What is the ratio of the Prices of tables bought by Anbu and Madhavi?

wreefluyn eryeynd @reanh Cuwesseer weapCGw T 750 wpmbp T 900 &g

aunhifleamisdr. ar e wrgeilub eurkdu Cuasseafler alaasaflar allfssms
eraflw auigeliled anpm.

A 3:4 (B) 4:3

©) 5:6 (D}{5

(E) Answer not known
aflenL Qsfweildwens

196. If the ratio of Green : Yellow : Black balls in a bag is 4 : 3 : 5, then how
many balls in total are there in the bag, if you have 40 black balls in 1t?

@@ eulld usms : weEpFa @ Uy Blp upgisar 4 @ 3 1 5 e edgsHed
o ererar. BHd sHUL ubFHsaler camefises 40 aeafid euuldr odrer Grss
upgsefiern aaraniisams 2

A 12 (B) 56

C) 64 (Dﬁe

(E) Answer not known
: elenL. Qaflwueiideana
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197.

198.

199.

60 workers can spin a bale of cotton in 7 days. In how many days will
42 workers spin 1t?

60 Ceaemeowr sd e umsS B o (a@@Lew  HIKs 1 BIL&GET
CaamauiLGHpg. 42 1 g1 265 Coumae (Py&s TSSMET B S6T < GLD ?

4) 11 (B) 15

(C) 12 (D%

(E) Answer not known
allen Gy flueidency

4 typists are employed to complete a work in 12 days. If two more typists

are added, they will finish the same work in days.

4 g sersdr g Coumaaw (Puss 12 Brisd abhisgs Gemdardlampert. Cuogib
2 sl L gaiadm ampsorss Caipsrd oCs Caimevenws prataefich ClFuig
(P1g LILir.

C @5

(C) 9 (D) 10

(E) Answer not known
aflen Ggflwedane

A number when decreased by 20% gives 80. Find the number.

e aramananr 20% @onssnd 80 de_sdpg aald, oibs caTmans STETS.
(&) 200 &yT0o0
(C) 300 (D) 400

(E) Answer not known
allen @gflwalevena
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200. Simplify:
14p5q3 _ 12p3q4

2p*q 3q°
F(HEHGS:
14p5q3 N 12p3q4
2p*q 3q?
(A) 11 p3q? (B) 3 péq?
OV pi g (D) 11 po g

(E) Answer not known
aflenL QgMwelildene
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